Druckverlust VARIO @ 50 PN20 doppel-U (2 Kreise parallel)

mit Ethylenglykol 25% @ 0°C 5 HakaGerodur
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Sondenldnge

3000 I/h 18.878 20.076 21.347 22.698 24.088 25.477 26.867 28.257 29.647
3600 I/h 25.989 27.637 29.387 31.246 33.158 35.070 36.982 38.894 40.806

=1200 I/h 34.054 36.214 38.505 40.940 43.444 45.948 48.452 50.956 53.460

=800 |/h 43.039 45.767 48.663 51.739 54.902 58.065 61.229 64.392 67.555
5400 1/h 52.914 56.267 59.826 63.607 67.494 71.381 75.268 79.156 83.043

== 6000 |/h 63.652 67.685 71.965 76.512 81.187 85.861 90.535 95.210 99.884

6600 I/h 75.233 79.998 85.056 90.429 95.952 101.475 106.998 112.521 118.044

Dichte 1046.1 kg/m3 Viskositat 4.050 mm2/s 09.08.2024



